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| like this movie. It's a bit long,
@ but @ and
®so @ because
® though

2t

Of2H CHetE S 2zt

ol E01717] 7Kg XpA2212

Jayden: Why didn't you answer my phone yesterday?

Kevin:I'm really sorry.

@ It's just that
@ ljust
® Just that

2t

—

4 ofzl chtE 91 wIZH| S0P7p] Of

Jayden:Igot a 90! | passed!

I left my phone in my bag the whole day.

@ lt'sonly
@ It's that

Kevin: That's kind of low, though. I actually got 100.

Jayden:

@ You're such a buzzkill
3 Way to rain on my parade, Kevin

® You're really bringing me down

14

@ You totally spoiled the moment

@ That's what friends are for
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